Laborde, f. 73v-74r

Quel remede

’ &
[}
] S .
X i
14
Q
o g %
% o\ &
d|| o /A
©
=
-0 Q L
- o -
—+2] | IIGI
NIE=z= pee=d 2
2 5 g
.n QnU n
(0] o
T
g (&)
%)

=

|
Is
<

s€m

pour

trer

mons

de

hh

cucur

mon

que

Ce

-blant

ME lengraved with¢ Provio



no

che

bou

de

di

S€

I

=

be

est

11

< 24
‘I
] H]
L4 .
<
=l 3
<
an
% || 8 i
L —14 L
en
g
< S &
—® 1 %
. I 1
| o _
o 0 i

M |E ]engraved Wifh(Veroyio



S€

li

€S

-cret

Q O

bl

=

dan

der

cul

Pour

e

ger

M |E ]engraved Wifh(Veroyio



\ BERY oG
1 °.I||
O
-
g Ng 1
BERY
% BERY
-2+
|14
|
g
th &
0 —+—
2| | o
2 —1¢
4
L I ERE
| -0
Ruc £hg =

bl 4 )

lant

M |E ]engraved Wifh(Veroyio



